FERXAXF 2011 FMTHRENFEER LTS
BB 877 B BAM: BRLAE 3t 3 70D

—. S (20 4B NE 4 5
1. P it — N EJLAN R RS 7l
KEMEE

2. TER TR, Db A AR AR A S, P B R
PRI TT RER I 48
3.0 T n T B Fen sy e y?)=0 . B #

P=0(XC,5C, 50 C,) S )50 pmse, » WIFKIXAMERIL
4. KTy R, HOEMAS TR s TRk TR
kvt AR A — B A I

5. el % — P+ Oy TR, TRl iR

T ARYE @SN R TR (15 7))

L PR, e /T
N\ W R R 045 b
9 Beti— AT Ty 1 /NER, b

/ {4550 2 [ 5 000 O T

AR IHLIES). @ RoniED)

LGS, IFE SOE I B
iR, 2 . 15
mg H/NER IR BT RE o




=. [FIZ A48 (25 93D
1. 35 H N OB T 2 B B T 2 75 0 2R 1 5 A2

Y _ inx- LS. S
(D dr—smx 4y , (2) dr3+6ydr+xy—0
2. M ARF o TR R A0 D AR ) e
3. HHSF AR IR G I R AL — OB 20 BOR B N B B

H

17 @y () Fl @y () R AEFFIRE M R, W @ = 0, + 6,0,
FE AT AR T IR ML oy 7 FEZH I 2

/. BRI E ) AR AT AEME—PE 2 PR (Picard @ 2E) (10)

He AR EVERM AR (25 7))

5 &y _x—p+l

4
' d&x x+p-3

=y*cosx

75 HBERAITTRS R R TR, IRk, (20 4
1. BXp+87)dr+ (X’ +8xy+12y%)dy=0

2. FIHBG R Pk g T e (o + p*)de— 2’ dp =0
+. SRR IR ME T FR A R AR AR (14 43
. [2 1]
X = X
0 2

s SRNIRWMERGE R (11 )

o Sl



i~ (10 50D e ARy HRE X = f(x) 1573 £(0) =0 I H.I
B () 7 x = 0 AL 1

1. AT ARZ I IR & = (o) BT AL T RE 4 ?
2. JPE FRARLAME T REA A E M

, 73 1 X x22
X = X+
05 -1 X, sin x;



